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Basic Topology (D)
= Odd X uses EIGRP, even Y uses OSPF
= DO NOT add loopbacks into routing process

LoO:

x.o.z.[1,5,9]/30@
fd:X:O:20[1,2,3]::1/64~

R2

SerialO:
¥.10.12.0/30
fd:X:12::0/127

LoO:

Seriall:

X.10.23.0/30
fd:X:23::0/127

T -

Fal:
X.10.14.0/30

FaO:

Fa2:

X.10.34.0/30

X.0.1.[1,5,9]/3C
fd:X:0:10[1,2,3]::1/64~

X_R1

fd:X:14::0/127

fd:X:34::0/127 >

R3




Lab 4.1: Redistributing Connected Routes

= Remove R2’s Lo0 from routing process

= R2:
(conf) #

router {eigrp X|ospf Y}
redistribute connected

Seriall:
X.10.23.0/30
LoO: fd:X:23::0/127

x.o.z.[1,5,9]/3o@%
fd:X:0:20[1,2,3]::1/64~ U

R2 X_R3
o)
N~
o R L o
[ =] Qﬁ
o~ ~
© O g =)
o N .- < -
T - N mn <
[T IAS o™
OSPFA i
xX T c‘\éxq—g
w

Fal:
X.10.14.0/30
fd:X:14::0/127




Basic Topology 2
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Lab 4.2: Redistribution into OSPF

= R3, R4, = R3 and R4:

Omega: (conf) # router ospf 99
(conf) # redis eigrp A subnets metric 100 metric-type 2

router ospf 99 redis ospf B subnets metric 100 metric-type 1

network .. area 0

EIGRP A OSPF B
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Lab 4.3: Redistribution into EIGRP

*R3, R4, Omega: = R3 and R4:

(conf) # (conf) # router eigrp 100
router eigrp 100 redis eigrp A metr 10000 100 255 1 1500
no auto-summary redis ospf B metr 10000 100 255 1 1500

network ..

1 1
EIGRPA  ——3 EIGRP 100 &— OSPFB
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Lab 4.5: Redistribution into RIP

*R3, R4, Omega: = R3 and R4:

(conf) # (conf) #
router rip router rip
version 2 redistribute eigrp A metric 10
no auto-summary redistribute ospf B metric 10
network
1 1
EIGRPA <—1—>RIP<—F+—> OSPF B
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Lab 4.6: Repairing RIP-OSPF Issue

B R3 and B_R4:
(conf) #

access-1list 99 permit A.0.0.0 0.255.255.255

router ospf B

distance 125 0.0.0.0 255.255.255.255 99
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Lab 5.1: Passive Interface

*R1, R2:

(conf) #

router {eigrp X | ospf Y}
passive-interface seriall

show ip {ospf|eigrp} neighbors

Seriall:
X.10.23.0/30
fd:X:23::0/127

LoO:
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Lab 5.2a: Deny R2’s Lo0O with Distribute
.r1 ra:  LIstUsing ACL

(conf) # access-1list 9 deny X.0.2.0 0.0.0.15

(conf) # access-1list 9 permit any

(conf) # router {eigrp X | ospf Y}
distribute-list 9 in

# show ip route Serial1:

X.10.23.0/30
LoO fd:X:23::0/127

fd:X:0: 20[1 2 3] 1/64~ u.
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SerialO:
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fd:X:12::0/127
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LoO: X.10.14.0/30
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Lab 5.2b: Deny R1’s LoO with Distribute
"R2,R4:  List Using Prefix-List

(conf) #
(conf) #
(conf) #
(conf) #

distribute-list prefix PL in

# show ip route Seriall:

ip prefix-list PL deny X.0.1.0/29 le 30
ip prefix-list PL deny X.0.1.8/30

ip prefix-list PL permit 0.0.0.0/0 le 32
router {eigrp X | ospf Y}

X.10.23.0/30
LoO fd:X:23::0/127
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Lab 5.3: Policy Based Routing
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fd:X:14::0/127 access-list 2 permit host X.

route-map ROPBR permit 10
match ip address 1
set interface serial0
route-map ROPBR permit 20
match ip address 2

0.0.1
0.0.5

set interface fastethernetl

interface fal
ip policy route-map ROPBR




Lab 5.4: IP SLA
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